
 

  

Hai Cinema  "All we have comes from God and we give it out of His hand.”  

next to Quality Hotel  - 1 Chronicles 29:14b, Dutch Paraphrase  www.samaritanspurse.org Juba, 
South Sudan    

  

  

  

  

 Franklin Graham President  

  

   

 REQUEST FOR QUOTE            Date: DATE 26th January, 2024  
  

Deadline for submission of Quotation is DATE  9th February 2024 5:00 PM  

   

  

Samaritan’s Purse  

Juba, South Sudan, Hai Cinema next to Quality 

Hotel, Old Juba Town Road.   

  
  

Samaritan’s Purse wishes to contract a legally recognized service provider (company) to supply Sakom Samag parts.  

  

Reference number:  LPR01-24-022JBA-T1-Sakom Samag parts If you are interested in bidding 

for this tender, please submit your competitive quotation by   

• Email to:  ssrfq@Samaritan.org with subject line LPR01-24-022JBA-T1-Sakom Samag parts.  

• Or by Hand delivery to Samaritan’s Purse Juba office in sealed enveloped clearly marked: LPR01-24-

022JBA-T1-Sakom Samag parts Attention to: ER Operations Manager  

  

If the correct reference number is not included in the subject line of the email or on the envelope the quote will be 

subjected to rejection.   

Do NOT copy anyone when submitting your bid  

Pictures/physical sample of the quoted items would be appreciated if submitted immediately sending in your quote.  

  



 

  

Hai Cinema  "All we have comes from God and we give it out of His hand.”  

next to Quality Hotel  - 1 Chronicles 29:14b, Dutch Paraphrase  www.samaritanspurse.org Juba, 
South Sudan    

  

Item # 
Quantit

y 
Unit Item Description 

Cost Per 
Each Unit 

Total 
Cost 

Part Number 
COMMENT

S 

الرقم 
 المتسلسل

 وصف السلعة وحدة كمية
التكلفة لكل 

 وحدة
التكلفة 
 الإجمالية

 تعليقات رقم القطعة

1 16.00 EA 
CYLINDER SLEEVE 125MM BORE 

    
4144042   

2 16.00 EA 
CYLINDER SLEEVE 120MM BORE 

    
2406631   

3 2.00 EA 
CRANKSHAFT STD 125MM BORE 

    
2144316   

4 3.00 EA 
CRANKSHAFT STD 120MM BORE 

    
42522041   

5 200.00 EA 
SCREW CHEESE HD M12 

    
1136443   

6 200.00 EA 
SCREW CHEESE HD M12 

    
1110799   

7 16.00 EA 
ROD CONNECTING 

    

2148853 /  
42522221 

  

8 24.00 EA 
PISTON WITH RINGS 125MM STD 

    
2143485   

9 24.00 EA 
PISTON WITH RINGS 120MM STD 

    
2417200   

10 8.00 EA 
HEAD CYLINDER COMPLETE 125MM 

    
2149666   

11 20.00 EA 
HEAD CYLINDER COMPLETE 120MM 

    

2199267/ 
4146216 

  

12 24.00 EA 
STUD 

    
2486592   

21 12.00 EA 
KIT PISTON AND LINER STD 

    
A97110233D   

22 12.00 EA 
SEAL LINER TO CYLINDER BLOCK 

    
A70620119E   

23 24.00 EA 
SEAL LINER TO CYLINDER BLOCK 

    
A70620148E   

24 2.00 EA 
KIT CRANKSHAFT 

    
A71000259D   

25 6.00 EA 
ROD CONNECTING 

    
A71200020E   

26 10.00 EA 
HEAD CYLINDER COMPLETE 

    
A702000067E   

27 12.00 EA 
GASKET CYLINDER HEAD 

    
A72600098U   

28 2.00 EA 
CAMSHAFT AND GEAR 

    
A70150090E   

29 4.00 EA 
BEARING CAMSHAFT, NO, 1 

    
A70710058E   

30 15.00 EA 
BEARING CAMSHAFT, NO, 2-6 

    
A70710045E   

31 4.00 EA 
BEARING CAMSHAFT, NO, 7 

    
A70710061E   

32 4.00 EA 
PUMP FUEL INJECTION 

    
A96460340D   

33 3.00 EA 
FAN COOLING 

    
A76200313E   

34 15.00 EA 
ALTERNATOR 24V 55A 

    
A65310010D   

35 20.00 EA 
NUT HEX 

    
1112888   

36 6.00 EA 
LEAF SPRING NR1 

    
2519775   

37 6.00 EA 
LEAF SPRING NR2 

    
2519776   



 

  

Hai Cinema  "All we have comes from God and we give it out of His hand.”  

next to Quality Hotel  - 1 Chronicles 29:14b, Dutch Paraphrase  www.samaritanspurse.org Juba, 
South Sudan    

  

38 30.00 EA 
CLAMP SPRING 

    
42052067   

39 60.00 EA 
NUT HEX FLANGE LOCK 

    
42070707   

40 10.00 EA 
BOLT CENTRE 

    
1104438   

41 10.00 EA 
NUT HEX FLANGE LOCK 

    
1112888   

42 2.00 EA 
FRONT SPRING 

    
42071659   

43 10.00 EA 
BUSH 

    
42066389   

44 5.00 EA 
NUT HEX 

    
1113196   

45 6.00 EA 
LEAF SPRING NO.1 

    
42071660   

46 6.00 EA 
LEAF SPRING NO.2 

    
42071661   

47 4.00 EA 
DRUM BRAKE 

    
4711888   

48 3.00 EA 
ARM STEERING UPPER  

    
7164169   

49 3.00 EA 
TRACKROD 

    
2475843   

50 3.00 EA 
ARM STEERING LOWER LH 

    
7160381   

51 3.00 EA 
ARM STEERING LOWER RH 

    
7160382   

52 5.00 EA 
STEERING RESERVOIR 

    
42205054   

53 6.00 EA 

MOUNTING FRONT ENGINE WITH 
PRESSED RUBBER RH     

C57A0020   

54 6.00 EA 

MOUNTING FRONT ENGINE WITH 
PRESSED RUBBER LH     

C57A0021   

55 30.00 EA 
GASKET    

    
4141406   

56 10.00 EA 
SHACKLE BUSHES 

    
420665068   

57 5.00 EA 
PIN SHACKLE 

    
42068361   

58 4.00 EA 
BRACKET 

    
2417922   

59 15.00 EA 
STARTER MOTOR 

    
42522679   

60 2.00 EA 
AXLE HEAD POWER DIVIDER SAMAG 

    
42037371   

61 2.00 EA 
HEAD INTER AXLE 

    
42061348   

62 15.00 EA 
SEAL SHAFT 

    
2477868   

63 5.00 EA 
SHAFT DRIVE 

    
42061280   

64 5.00 EA 
SHAFT DRIVE 

    
42037134   

65 10.00 EA 
BEARING BALL 

    
1109090   

66 115.00 EA 
PLATE LOCKING 

    
2475984   

67 6.00 EA 
NUT SPECIAL 

    
1120620   



 

  

Hai Cinema  "All we have comes from God and we give it out of His hand.”  

next to Quality Hotel  - 1 Chronicles 29:14b, Dutch Paraphrase  www.samaritanspurse.org Juba, 
South Sudan    

  

68 16.00 EA 
BEARING ROLLER 

    
1126121   

69 6.00 EA 
BEVEL GEAR 

    
2475663   

70 10.00 EA 
SET SPIDER RING 

    
2479566   

71 10.00 EA 
KIT SPIDER GEAR 

    
2968944   

72 5.00 EA 
SHAFT OUTPUT 

    
2475981   

73 5.00 EA 
DOG SHIFT 

    
2478932   

74 10.00 EA 
NUT SPECIAL 

    
2478148   

75 10.00 EA 
BEARING BALL 

    
1273876   

76 10.00 EA 
BEARING NEEDLE 

    
42014243   

77 10.00 EA 
RING SNAP 

    
2478221   

78 20.00 EA 
BRAKE BOOSTER LONG 

    
42521171   

79 4.00 EA 
FLANGE DRIVE 

    
42483027   

80 8.00 EA 
NUT SPECIAL 

    
42159032   

81 8.00 EA 
NUT SPECIAL 

    
4460195   

82 4.00 EA 
GEAR SPUR 

    
2475511   

83 4.00 EA 
GEAR SPUR 

    
2478213   

84 10.00 EA 
BEARING TAPER ROLLER 

    
1307561   

85 3.00 EA 
KEY 

    
FUL0017109   

86 3.00 EA 
KEY 

    
FUL0019673   

87 3.00 EA 
PIN ROLL 

    
FUL0062511   

88 3.00 EA 
KEY 

    
FULOX0006E   

89 3.00 EA 
KIT REPAIR FILTER 

    
FUL00K1698   

90 5.00 EA 
VALVE SLAVE 

    
FUL0019470   

91 10.00 EA 
UNION ELBOW 

    
FUL0012845   

92 10.00 EA 
SPRING 

    
FUL0019572   

93 10.00 EA 
SLEEVE 

    
FUL0019460   

94 5.00 EA 
HOSE 

    
FUL0055526   

95 2.00 EA 
SHAFT STEERING UPPER 

    
2522059   

96 10.00 EA 
NUT HEX M20X1.5 

    
4507970   

97 20.00 EA 
CONE SEALING 

    
2411519   



 

  

Hai Cinema  "All we have comes from God and we give it out of His hand.”  

next to Quality Hotel  - 1 Chronicles 29:14b, Dutch Paraphrase  www.samaritanspurse.org Juba, 
South Sudan    

  

98 100.00 EA 
O SEAL 

    
1179577   

99 200.00 EA 
BOLT MACHINE HEX HD 

    
A1111179   

100 50.00 EA 
GASKET INLET MANIFOLD 

    
4141486   

101 25.00 EA 
GASKET EXHAUST MANIFOLD 

    
2146500   

102 200.00 EA 
NUT HEX 

    
2411054   

103 200.00 EA 
WASHER FLAT 

    
1107101   

104 50.00 EA 
GASKET EXHAUST MANIFOLD 

    
3360675   

105 3.00 EA 
BRACKET STEERING 

    
2521536   

106 10.00 EA 
SPACER 

    
2492279   

107 10.00 EA 
RING CENTRE 

    
2491517   

108 2.00 EA 
WHEEL STEERING 

    
42204318   

109 5.00 EA 
JOINT BALL RH 

    
42489574   

110 5.00 EA 
JOINT BALL LH 

    
42489573   

111 6.00 EA 
NUT CASTLE 

    
1113284   

112 200.00 EA 
KEY WEDGE 

    
42480052   

113 200.00 EA 
DUST BOOT 

    
42488737   

114 200.00 EA 
DUST BOOT 

    
42480057   

115 4.00 EA 
SHACKLE SPRING 

    
2460853   

116 10.00 EA 
PIN SHACKLE 

    
E2009783   

117 10.00 EA 
BEARING SHACKLE PIN 

    
42030275/A   

118 6.00 EA 
ELBOW 

    
16593FM060   

119 5.00 EA 
REDUCER 

    
L0013836   

120 1.00 EA 

ENGINE SUB ASSEMBLY-WITH 
CRANKSHAFT, CAMSHAFT, PISTONS 
AND SUMP-ADE 407N-SAMAG 120     

 ADE 
407NSAMAG 
120 

  

121 50.00 EA 
FUEL FILTER LF110 

    
LF110   

122 2.00 EA 
TANK EXPANSION 

    
C60A0030   

123 10.00 EA 
SUMP GASKET 

    
A75600121D   

124 8.00 EA 
KINGPIN KIT 

    
7112647   

125 10.00 EA 
TORQUE ROD KIT SAMAG 

    
42488722   

126 6.00 EA 
DISC CLUTCH 

    
42061546   

127 6.00 EA 
PRESSURE PLATE 

    
42061545   



 

  

Hai Cinema  "All we have comes from God and we give it out of His hand.”  

next to Quality Hotel  - 1 Chronicles 29:14b, Dutch Paraphrase  www.samaritanspurse.org Juba, 
South Sudan    

  

128 200.00 EA 
BOLT SPECIAL VM12 

    
3436899   

129 200.00 EA 
NUT HEX LOCK 

    
1132676   

130 10.00 EA 
REGULATOR PRESSURE 

    
42007712   

131 10.00 EA 
VALVE PROTECTION 

    
42051732   

132 5.00 EA 
CONE INNER RING 

    
42015229   

133 15.00 EA 
CENTRE BEARING HANGER SAKOM 

    
93191989   

134 5.00 EA 
BEARING 

    
42002125   

135 5.00 EA 
RING RUBBER 

    
2969799   

136 15.00 EA 
BEARING HANGER 60MM SAMAG  

    
42002125   

137 4.00 EA 

COVER GEARBOX-- COMPLETE WITH 
LEVERS S6-90 SAKOM     

S6-90 ZF 
GEARBOX 

  

138 5.00 EA 
COVER UPPER 

    
4691212   

139 2.00 EA 
SHAFT STEERING LOWER 

    
447045   

140 5.00 EA 
RAIN CAP 

    
JA000611   

141 2.00 EA 
KIT CRANKSHAFT STD 

    
A71000259D   

142 10.00 EA 
O SEAL 

    
A2477868   

143 6.00 EA 
DRUM BRAKE 

    
2479853   

144 5.00 EA 
NUT SPECIAL 

    
3555488   

145 10.00 EA 
BRAKE BOOSTER NUT  

    
4756032   

146 300.00 EA 
WHEEL WASHER 

    
1121811   

147 300.00 EA 
WHEEL WASHER 

    
3420371   

148 300.00 EA 
NUT WHEEL 

    
41800483   

149 10.00 EA 
TUBE 

    
14105720   

150 4.00 EA 
STEERING SHAFT 

    
4470760   

151 50.00 EA 
SET VEE BELTS AX41 

    
4147646 / AX41   

152 50.00 EA 
VEE BELTS FA015 

    
1163442/ FA015   

153 30.00 METRES 
HOSE 

    
2R4010000R   

154 200.00 EA 
BOLT MACHINE HEX HD M10X50 

    
M10X50   

155 200.00 EA 
NUT HEX LOCK M10 

    
NYL M10   

156 200.00 EA 
BOLT MACHINE HEX HD M12X50 

    
M12X50   

157 200.00 EA 
NUT HEX LOCK M12 

    
NYL M12   



 

  

Hai Cinema  "All we have comes from God and we give it out of His hand.”  

next to Quality Hotel  - 1 Chronicles 29:14b, Dutch Paraphrase  www.samaritanspurse.org Juba, 
South Sudan    

  

158 60.00 EA 
SEAL SHAFT 

    
42037582   

159 10.00 EA 
BUSH SPRING 

    
42066389   

160 3.00 EA 
BRACKET LOWER SHACKLE 

    
42051065/A   

161 200.00 EA 
BOLT HEX MACHINE M10X 40 

    
    

162 200.00 EA 
NUT LOCK M10 

    
    

163 30.00 EA 
CLAMP SPRING SAKOM 120 

    
2518847   

164 60.00 EA 
NUT HEX LOCK 

    
1126471   

165 10.00 EA 
BOLT CENTRE 

    
41800698   

166 10.00 EA 
NUT HEX 

    
0316N00011   

167 10.00 EA 
RING LOCK 

    
11060975   

168 30.00 EA 
SEAL SHAFT -REAR HUB 

    
40100673   

169 10.00 EA 
RING THRUST 

    
7162586   

170 250.00 EA 
LINING STD  

    
1902554   

171 3,000.00 EA 
RIVETS 

    
42014895   

172 10.00 EA 
SEAL SHAFT 

    
2479497   

173 3.00 EA 
ROD TORQUE COMPLETE 

    
42041107   

174 5.00 EA 
VALVE DRAIN 

    
4755126   

175 10.00 EA 
VALVE WATER DRAIN 

    
E2021336   

176 50.00 METRES 
TUBING 

    
41806536   

177 50.00 METRES 
TUBE 

    
E1806534   

178 50.00 METRES 
TUBE 

    
E1806535   

179 10.00 EA 
VALVE RANGE 

    
C53A0075   

180 10.00 EA 
PROPSHAFT 4 TH 

    
C56A0014   

181 10.00 EA 
PROPSHAFT 4 TH 

    
42010089   

182 20.00 EA 
HEADLAMP COMPLETE 

    
L004478   

183 40.00 EA 
BEAM SEMI SEALED 

    
L0002553   

184 10.00 EA 
BEARING NEEDLE 

    
7161012   

185 10.00 EA 
BEARING NEEDLE 

    
7161013   

186 50.00 EA 
REGULATOR CUT OFF 

    
A65360073D   

187 20.00 EA 
GASKET TAPPET COVER 

    
2402812   



 

  

Hai Cinema  "All we have comes from God and we give it out of His hand.”  

next to Quality Hotel  - 1 Chronicles 29:14b, Dutch Paraphrase  www.samaritanspurse.org Juba, 
South Sudan    

  

 

   

Your Quotation MUST clearly indicate the following:  

 
• Currency of offer – USD.  

• Number of days required for delivery.   

• Validity of the Quotation – Should at least be 90 days if possible otherwise indicate your exact duration  

• Detailed specifications and brands of quoted items are requested.  

• Unit Price and Total Amount.   

• Payment terms will be within 30 business days after receipt of goods and invoice, by Electronic bank transfer.   

• Terms of Delivery (Preference for DDP Juba).  

• Delivery charges, if any, should be clearly stated on the quotation.   

• Samaritan’s Purse South Sudan is not subject to VAT, therefore all Quotations should be exclusive of VAT 

costs.  

• Quotes must be stamped, signed and sent as a pdf/picture file Or printed and submitted in a sealed envelope 

with the reference number clearly written on the sealed envelope  

• Submit your quotation by email with subject name the reference number of this request for quotes or by 

physical submission in a sealed unmarked envelope with only the reference number of this request for quotes 

written on it.  

• The subject line of the email or the physical copy has to be the reference number of this request for quote.  

• Samaritan’s Purse South Sudan has the right to exclude any Quote that doesn’t meet all of the above.  

188 2.00 EA 
FRONT SPRING 

    
AC519773   

189 10.00 EA 
CLUTCH PLATE SAKOM 380MM 

    
E2063030   

190 7.00 EA 
PRESSURE PLATE 

    
42026271   

191 50.00 EA 
FAN BELTS  

    
P473   

192 40.00 EA 
LIFT PUMP BOSCH/FLAG MANUAL 

    
440011007   

193 100.00 EA 

BULB H4 24V 70/75W HEADLAMP 
P45T     

    

194 10.00 EA 
4 WAY PROTECTION VALVE 

    
42085657   

195 30.00 EA 
REAR SPRING BRAKE TYPE 12 

    
42040215   

196 200.00 EA 
CERAMIC 8 AMP FUSE 

    
    

197 200.00 EA 
CERAMIC 16AMP FUSE 

    
    

198 32.00 EA 
BIG END BEARING STD PER JOURNAL 

    
4149429   

199 18.00 EA 

LOCATING MAIN BEARING STD 
125MM BORE     

4140796   

200 18.00 EA 

LOCATING MAIN BEARING STD 
120MM BORE     

2147240   

201 24.00 EA 

MAIN BEARING STD PER JOURNAL  
125MM     

4180681   

202 24.00 EA 

MAIN BEARING STD PER JOURNAL  
120MM     

2147219   

    
  

    
    

    
  

    
    

  



 

  

Hai Cinema  "All we have comes from God and we give it out of His hand.”  

next to Quality Hotel  - 1 Chronicles 29:14b, Dutch Paraphrase  www.samaritanspurse.org Juba, 
South Sudan    

  

• Samaritan’s Purse South Sudan might request for samples to be provided when the Request For Quote period 

ends. Failure to submit samples by the RFQ end date (if samples are requested) is grounds for disqualification 

of the bid.  

   

TERMS AND CONDITIONS:  

  

• Samaritan’s Purse accepts no responsibility and is under no obligation to reimburse applicants for the costs 

associated with preparation of their applications.  

• Samaritan’s Purse reserves the right to award the most qualified service provider (contractor) regardless of the 

lowest price submitted.  

• Payment is upon delivery and after preliminary verification of the services/items specified above.   

• Samaritan’s Purse reserves the right to award to more than one bidder or to reject all applicants and cancel the 

solicitation at any time.  

• Suppliers who do not quote DDP Juba agree to make all items available for inspection by SP personnel prior 

to payment, available for pre-shipment inspection by an authorized entity, and packaged appropriately for air 

shipment if necessary. 

  

Quotations will be REJECTED if:   

  

• Submitted after the RFQ deadline.  

• Submitted separately to any other party.  

• Any coercive behaviour is suspected.  

   

All bids are received directly by the Head of the department.  It is not possible to influence the decision or 

outcome. No individual or group can influence decision making.   

  

Questions?  

If you have any questions or need further clarifications on this RFQ, please email: KAugustine@samaritan.org 

copying ssrfq@Samaritan.org and ASpyrouklas@samaritan.org   
  

  
  

  


